INSTRUCTIONS &

INFORMATION

Wi’
SEATBELT MOUNT KIT -
ENCLOSURE W/ROPS

Kit Number 533383
for Serial # 5499999 and below

SEAT BELT INSTALLATION

A sharp knife is needed for installation.

e Place the Seatbelt Mount (item 7) next to
the ROPS tube (item 9) with the bottom
of the mount 2" above the center of the
bend in the ROPS tube (see Fig. 2).
Mark the rear cab panel fabric on each
side of the machine where the seatbelt
mount contacts the fabric.

e Make a 2" cut through the fabric.

e On the right side of the machine, position
seatbelt mounts (items 7 & 8) around
ROPS tube as shown in the Top View
(Fig. 1).

e Inserta 1/2x 1 1/4" bolt (item 1) through
the back end of the seat belt mounts.

TOP VIEW

P
T \3/ :'i‘\21
N | T |

L O

Fig.1

Turn 1/2" lock nut (item 4) finger tight.
Insert a 1/4 x 3/4" truss head bolt (item 2)
through the seatbelt mounts on the front
side of the ROPS tube and tighten the nut
(item 3) finger tight.

Install a 1/2 x 1 1/4" bolt (item 1) through
the seatbelt retractor, flat washer (item 5)
and the front end of the seat belt mounts
(items 7 & 8). Turn 1/2" lock nut (item 4)
finger tight.

The retractor should be angled at about
20 degrees above horizontal.

Tighten all the bolts and position the
brackets 2" above the center of the bend
in the ROPS tube.

Install the buckle side (left) the same way.

The Grasshopper Company
Moundridge, Kansas

Instruction A-0302
January 31,2005

U.S.A.67107 Page 10f2 Copyright © The Grasshopper Company, 2005



